IS0 H

N

Aluminum Tank Industries, Inc.

Refueling Tank Installation Instructions

Required Hardware : 3/8 x 1 %-16 bolt= 1 per mounting tab
3/8-16 nut = 1 per mounting tab
3/8 flat washer = 2 per mounting tab
3/8lock washer = 1 per mounting tab

Place the Refueling Tank in the desired location.If you are installing a combo make sure thelid clears
the bed when the toolbox lid is in the open position. Mark a location to drill a 3/8” hole in each of the
mounting tabs. Before drilling check to make sure you will not drill into hoses, brake lines, wiring, etc.
Drill holes thru mounting tabs and truck bed and fit with 3/8”x1 %" bolts, flat washer on each side, lock
washer and nut. Tighten securely.



https://www.carid.com/aluminum-tank-industries/
https://www.carid.com/bed-accessories.html

